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2018/06/19 N ABHIERLA
7 G2.5 (4.0 ma/h) PESIENT= 8130
Qmax 0.2Qmax Qmin Qmax 0.2Qmax Qmin
NEN S HEB g J1%7| 22! Pg(Pa) aoIePa) | 101340
7.30 7.30 2350 2500
Jgews 114311055305 | 134311916504 | 134311916657 | 134311916511 | 134311916517 | 134311903735 134311916161 124311806509
101.70 T 101.90 102.30 101.60 102.00 T07.80 102.60 102.90
4.0 m3/h 102.80 L Q —0.60 ~0.40 0.00 ~0.70 20.30 050 0.30 0.60
IRl JNENEEI  Es 0.28 0.28 0.28 0.28 0.28 0.28 0.28 0.28
T 7.30 i 7.30 7.30 7.30 7.30 7.30 7:30 7.30
i & ]
Ao +ANES=R2IA T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
. 2200 Pi | 2050 1900 1750 1600 1450 1300 1150
A = x|
+ROHAHRZIN P —0.14 058 —0.44 0.58 573 —0.88 102 7
2| (%) +1.50% -0.45 ~-0.40 : -0.16 —0.99 =-0.74 -1.08 -0.45 -(.30
100.30 | 98.00 100.10 100.60 100.20 100.00 99.90 100.50
0.8 m3/h 100.00 L @ 0.30 00| 0.10 0.60 0.20 0.00 ~0.10 0.50
% NEANEEBA  Es 0.31 0.31 0.31 0.31 0.31 0.31 0.31 0.31
B 7.30 IEED 7.30 7.30 730 7.30 7.30 7.30
Pl oo =
Het) +Z0EE=REER T 0.00 0.00 0.00 0.00 0.00 ~0.00 0.00 0.00
. 2470 P 2440 5410 2380 350 5390 2290 2970
A 2 =
+20EHIHAIZAX P ~0.03 006| ~0.09 ~0.12 0.4 047 —0.20 —0.22
) xH%)  +1.50% 0.58 0.15 0.32 0.79 0.37 0.14 0.01 0.59
NF| NENEHX  Es
Ao | SANEREHEIH T
AAQEISRTEEL P
I AH(%)  £1.50%
= 5 B e B o] a2 B B e
-3 TR VI O 0Oss Oz [Oga= Os2 [ ss o2 0=y
IEHE) H=VH+ES+T+P peay-—R 100 ecemmT=te-t greEEgp=— P4 450
Q Pi+ 212




A0 EHEI=X

2018/06/19 N MEHAEZHA
7 A G2.5 (4.0 m3/h) ArE2JI|E0IH 8130
Qmax 0.2Qmax Qmin Qmax 0.2Qmax Qmin
JNEI 2 BB g =D & Pg(Pa) oioigHPa) 101340
7.30 7.30 2350 2500
leus 134311916362 | 119312020261 | 119312020278 | 119311024338 | 119312020295 119312020422 119312020423 119312020208
101.50 | 101.40 102.00 101.60 102.10 161.70 102.20 102.60
4.0ma/h 102.20 L @ ~0.70 ~0.80 ~0.20 0.60 Z0.10 ~0.50 0.00 0.40
NR| NZ=INEEA  Es 0.28 0.28 0.28 0.28 0.28 0.28 0.28 0.28
N 7.30 | 7.30 7.30 7.30 7.30 7.30 7.30 7.30
e
A& ~BOEHE=A2IX T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
__ 2200 pi| 2050 1800 1750 1600 1450 1300 1150
A s
s20EEA=Ex P —0.14 ~0.59 —0.44 058 ~0.73 ~0.68 102 7
| ZH%)  +£1.50% -0.55 -0.79 -0.35 -0.89 -0.55 -1.08 -0.74 -0.50
100.20 | 99.80 99.80 100.50 100.20 100,20 100.10 100.70
0.8 m3/h 100.00 L Q 0.20 ~0.20 ~0.20 0.50 6.20 0.20 0.10 0.70
NR| AE=EANEEFH Es 0.31 0.31 0.81 0.31 0.31 0.31 0.81 0.31
__ 7.30 | 7.30 7.30 7.30 7.30 7.30 7.30 7.30
|- Y
Ae| +ANEHE=RAZER T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
o 2470 Pi| 9440 2410 2380 2350 5300 2290 2270
A H ed o)
sE0HAHRAR2IA P —0.03 ~0.06 —0.09 —0.12 ~0.14 =017 20.20 —0.22
pl (%) +£1.50% 0.48 0.05 0.02 0.69 0.37 0.34 0.21 0.79
2 Z JIEIJINEEI Es
A& SANE2EREED T
SAH0EHYHNEET P
I %) +1.50%
B om e o o= e SR O SR S
H I AF & O & O g8k 1 &A O sgA O &= O gEA O &+ =31 =]
- {1-Q) - . - Pi - Pq
I FHE) %=V+ES+T+P smy=— ¥ 00 2EEEIT=tg-t St mEP=—— 9 4400
| XH(E) B 3 2 XT=ta T
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2018/06/19 R MBHPIERHA
e = G2.5 (4.0 m3/h) MNEJ&0H 8130
Qmax 0.2Cmax Qmin Qmax 0.2Qmax Qmin
JE2 2 H3E g JIEI] &3 PqlPa) CH212r{Pa) 101340
7.30 7.30 2350 2500
2w 134311000829 | 134311900825 -| 114311055253 | 134311913780 | 134311900823 134311914941 134311914560 | 119312020373
16740 T 701.40 101.70 102.00 T02.00 10230 102.00 102.60
4.0 m3/h 102.30 L Q ~0.90 ~0.90 ~0.60 ~0.30 ~0.30 0.00 ~0.30 0.30
A#| AN=NEEXN Es 0.28 0.28 0.28 0.28 0.28 0.28 0.28 0.28
B 7.30 0l 7.30 7.30 7730 7.30 7730 7.30 7.30
ey
A #BOEHSEN2EA T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
N 2200 pi | 2080 1900 1750 1600 450 1300 1150
e | [«] =] X
S —0.14 ~0.29 ~0.44 ~058 073 0.88 .02 117
21 XH%)  +1.50% -0.74 -0.89 -0.74 -0.60 -0.74 -0.60 —-1.04 -0.60
100.20 T 100.50 100.70 100.30 99.90 99.90 100.70 100.30
0.8 m3/h 100.00 L Q 0.20 0.50 0.70 0.30 ~0.10 ~0.10 0.10 0.30
Ax| NENEEBA Es 0.31 0.31 0.31 0.31 0.31 0.31 0.31 0.31
—— 7.30 W[ 7.80 7.30 7.30 7.30 7.30 7,30 7.80
3 A M
At +ANEE=HEIX T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
N o 2470 5| 2440 5410 2380 2350 5320 5560 2270
T2OEARNZIN P ~0.03 ~0.06 ~0.09 0.4 ~0.14 047 ~0.20 —0.22
pl %)  +1.50% 0.48 0.75 0.92 0.49 0.07 0.04 0.21 0.39
iy AE2NE 3 T Es
Heb ) SHOEHR2EXREER] T
A0 EYIAEEE P
Il (%) 1+1.50%
o H g Bt 8= =1 B g g [
B Jl A & [1&H O s&A 1 &+ O &= O gt O ek a&=A ] s&r=A
- ~ ey {I-Q) R - Pi - Pg
I ZHE) %=V+ES+T+P PEEY=— 100 REPBX|T=tq-ti oret I K| P= x100

Q Pi + CHOIgt
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2018/06/19 N AEHIHERH A
A = G2.5 (4.0 m3/h) NEIIENE 8130
Qmax 0.2Qmax Qmin Qmax 0.2Qmax Qmin
JIEI 25 BEg tq JIED| &8 Pq(Pa) diolekPa) 101340
7.30 7.30 2350 2500
e 134311901084 | 134311911976 | 134311914942 | 134311900409 | 134311901040 | 134311900735 134311901089 | 134311901026
102.00 T 107.30 10520 702.50 102.00 107.80 102.50 103.00
4.0 m3/h 102.30 L Q ~0.30 ~1.00 ~0.10 0.20 ~0.30 ~0.50 0.20 0.70
A% A=ANEFR  Es 0.28 0.28 0.28 0.28 0.28 0.28 0.28 0.28
N 7.30 W[ 7.30 7.30 7.30 730 7.30 7.30 7.30
I e | =
Aeh =20HEZREIAN T 0.00 0.00 0.60 0.00 0.00 0.00 0.00 0.00
. 2200 pil 2050 1900 1750 1600 1450 1300 1150
A =1 X
+AlHAHNZIN P —0.14 ~0.25 —0.44 2058 ~0.73 ~0.88 “1.02 117
]| ZH(%%) +1.50% -0.16 -0.99 -0.25 -0.11 -0.74 -1.08 —-0.55 -0.21
95,80 T 99.90 10060 100,30 100.70 100,00 100,50 10040
0.8 m3/h 100.00 L @ ~0.20 ~0.10 0.60 0.30 0.10 0.00 0.50 0.40
A% NE=INELEFRA  Es 0.31 0.31 0.31 0.31 0.31 0.31 0.31 0.31
o 7.30 i 7.30 7.30 7.30 7.30 7.30 7.80 7.30
F A2 A
e +HOEHEZRREI T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
N 2470 i 2440 5410 2380 2350 5320 2200 2270
A M (o] 31 X
+HOESHY=EX P 20.03 ~0.06 ~0.09 012 014 —0.17 ~0.20 ~0.22
pl XHe%)  £1.50% 0.08 0.15 0.82 0.49 0.27 0.14 0.61 0.49
NH| NEINEHI  Es
Aot | SANBSERE™ T
AADEGABUERT P
7 ZH%)  +1.50%
B e e g B B2 e e B
F: T o D Osa e Oges g O o= [
NRHE) %=V+ES+T+P amav-— 100 ecEEMT-tg-t gegEp- - A oPd 400
Q Pi+ ChIIgt




IMLDEHZEHIIS A

2018/06/19 N ABEIEZTUA
7 = G2.5 (4.0 m3/h) ANEIIZ=0IE 8130
Qmax 0.2Qmax Qmin Qmax 0.2Qmax Qmin
=) 2 2FE tg JIEI 4™ Pg(Pa) 21 2HPa) 101340
7.30 7.30 2350 2500
JlEHs 134311014715 | 134311914631 | 119312020339 | 134311915101 134311911903 134311900147 134311900180 134311900596
101.60 | 10160 102.30 102.80 102.00 102.50 102.40 103.00
4.0 m3/h 102.50 L Q ~0.80 ~0.80 ~0.20 0.30 =050 0.00 ~0.10 0.50
JR| JNENEFX  Es 0.28 0.28 0.28 0.28 0.28 0.28 0.28 0.28
__ 7.30 W] 7.0 7.30 7.30 730 7.30 7.30 7.30
P oA =t
Ad] +NHSER2IN T 5.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
T 2200 Pl | 2050 1900 1750 1600 1450 1300 1150
A2 [=]3="] =
+allEHeHN2EX P ~0.14 —0.29 —0.44 —0.58 ~0.73 ~0.88 —1.02 17
7| xH%)  +1.50% -0.74 —(.89 -0.35 -0.01 -0.94 -0.60 -0.84 -0.40
100.50 | 100.30 100.00 100.60 100.20 100.80 100.60 100.80
0.8 m3/h 100.10 L Q 0.40 0.20 ~0.70 0.50 0.10 0.7 0.50 670
x| NEFNEEBI Es 0.31 0.3t 0.31 0.31 0.31 0.31 0.31 0.31
N 7.30 tl 7.30 7.30 730 730 7.30 7.30 7.30
+ 2 =
Aeh) +2OEHE=XEIN T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
__ 2470 Bl | 2440 5410 2380 2350 2320 2290 2270
e A X
+20edA=IN P ~0.03 ~0.06 ~0.09 012 —0.14 047 ~0.20 —0.22
bl %) +1.50% 0.68 0.45 0.12 0.69 0.27 0.84 0.61 0.79
Xt A=21E8 327 Es
Het| +20EI2CXHEER T
2=HOGHLEYEEZ] P
I M%) £1.50%
B3 22 R O a2 o SEY R g2
B 2 A -] O &= &= O =& O grA -3 O & O sg=A
- ~ O {I-Q) e - Pi — Pq
I XHE) %=V+ES+T+P AEEY= X100 R=BAEXT=tg-ti e H A P= %100

Q Pi+ CE312f
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2018/06/19 o BT AMBIHSIEZR S A
7o G2.5 (4.0 m3/h) Ag71=0lE 8130
Qmax 0.2Qmax Qmin Qmax 0.2Qmax Qmin
20ED 2 288 iq JI=J| &= Pql(Pa) to12HPa) 101340
7.30 7.30 2350 2500
NS 134311908066 | 134311901083 | 134311900021 | 124311907935 | 134311911902 124311907932 134311024331 124311907934
101.90 T 10140 107,30 102.00 102.00 102.40 102.00 102.60
4.0 m3/h 102.20 L Q ~0.30 ~0.80 ~0.90 —0.20 ~0.50 0.20 20.20 0.40
NR| NENEIBI  Es 0.28 0.28 0.28 0.28 0.28 0.28 0.28 0.28
N 7.30 i 7.30 7.30 7.30 7.30 7.80 7.30 7.30
F| 22 =
Aeh SLNES=R2IX T 0.00 0,00 0.00 9.00 0.00 0.00 0.00 0.00
. 2200 Pi| 2050 7900 1750 1600 1450 1300 1150
T | =]
FENESRNEEA P ~0.14 —0.29 —0.44 —0.58 ~0.73 0.8 102 147
21 o)  +£1.50% -0.16 -0.79 -1.04 -0.50 -0.64 -0.40 -0.94 ~-0.50
100.10 T 700.30 99.60 100.40 100.20 100.00 100.70 160.30
0.8 m3/h 99.90 L @ 0.20 0.40 0.00 0.50 0.30 0.10 .20 0.40
A% A=ANEER  Es 0.31 0.31 0.31 0.31 0.31 0.31 0.31 0.31
- 7.30 MES 7.30 7.30 7.30 7.30 730 7.30
I A .}
g +AOEHSERZIR T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
o 2470 pi | 3440 5410 2380 2350 2320 5290 5570
AH
+HNEHAHRARIN P ~0.03 —0.06 ~0.09 —0.12 0.4 017 ~0.20 —0.22
bl A%y  £1.50% 0.48 0.65 0.22 0.69 0.47 0.24 0.31 0.49
J& ANAE2NBEI Es
Hét £HNEH2EXNSEI T
2D HAHAIUNEEHX P
I EH%)  +£1.50%
= = B =i == gt B =1 fip=! BF A g
E O N O Oera  0Oga o= Oz og= [0 2g= Oz Ogs
IFHE) H=V+ES+T+P meav=— T 00 ecwmmT-tg-t orpEm P P9 400
Q Pi + RIS
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2018/06/19 N MBHIIERUA
3 A G2.5 (4.0 m3/h) JESIEIE 8130
Qmax 0.20max Qmin Qmax 0.2Qmax Qmin
J&ED 2 B3t ig AT e Pg(Pa) : fJ|2HPa) 101340
7.30 7.30 2350 2500
sws 134311900581 | 124311907938 | 124311907939 | 134311927159 | 134311901024 | 134311914892 134311901028 | 134311900149
101.10 T 701.50 101.60 107.90 102.40 163.00 109.30 102.50
4.0 m3/h 10230 LQ 120 0,80 2670 ~0.40 0.10 0.70 0.00 0.60
AR NENEEX Es 0.28 0.28 0.28 0.28 0.28 0.28 0.28 0.28
— 730 EED 7.30 7.30 730 7.80 7.30 730
Pl
e +BOHSEILEN T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
- 2200 Pi| 2050 1900 1750 1600 1450 1300 1150
St =1 X
rENEHAHGEAX P 014 ~0.29 ~0.44 —0.58 ~0.73 ~0.88 .02 47
p ZH%)  +1.50% -1.04 -0.79 -0.84 ~0.69 -0.35 0.09 -0.74 -0.30
99.80 T 99.90 100.20 100.70 100.80 100.40 100.30 101.00
0.8 m3/h 100.00 L Q ~0.20 ~0.10 0.20 0.70 0.80 0.40 0.30 1.00
AR NAENEFX  Es 0.31 0.31 0.31 0.31 0.31 0.31 0.31 0.31
T 7.30 il 7.30 7.30 7.80 7.30 7.30 730 730
F| A =
A +AOE2=R23X T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
—— 2470 Pi| 2440 2410 2380 2350 5320 2290 5570
e | 2 =
sHNHSHAEZT P ~0.03 ~0.06 ~0.00 —0.12 —0.14 —0.17 ~0.20 Z0.22
]| ) £1.50% 0.08 0.15 0.42 0.89 0.97 0.54 0.41 1.09
x| ANZFALFA  Es
He | S20B2cHBET T
AAOESHREER P
3 IH%)  £1.50%
B3 o= e o= o &= e &= e
T O OA Oe 02 osy O Oaz 0O Ost= 0Oz
- . o {I-Q) T i — Pi - Pq
N ZHE) H=V+ES+T+P pemy=— " 100 2EHEIT=tg- et Ry P=—— 19 100

Q Pi + CR212r
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'2018/06/19 & B X ABHBIER LA
7 G2.5 (4.0 ma/h) AZII=0H 8130
Qmax 0.2Qmax Qmin Qmax 0.2Qmax Qmin
NEI B E/ tg J1E3| 22 pg(Pa) 712 (Fa) 101340
7.30 7.30 9350 2500
s s 134311911886 | 134311901027 | 134311914310 | 134311900231 | 134311900177 | 184311901087 184311900757 | 134311900160
102.00 | 701.90 101.30 102.00 101.40 102.70 103.00 102.20
4.0 m3/h 102.20 L Q 020 0,30 ~6.90 050 Z0.80 0.50 0.80 0.00
| NEINEFX  Es 0.28 0.28 0.28 0.28 0.28 0.28 0.28 0.28
— 7.30 8| 7.30 7.30 7.30 7.30 7.30 7.30 7.30
P Aam =
At +ANBE=A=IN T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
- 2200 Bl 2050 1900 1750 1600 1450 1300 1150
S | [=] =] =
TRUESRIEEN P 0.4 ~0.29 ~0.44 —0.58 ~0.73 ~0.88 102 17
]| ZH%)  £1.50% -0.06 -0.30 -1.04 -0.50 -1.23 -0.11 0.04 -0.89
100,40 | 99.80 160,70 100.30 100.80 99.90 100.60 100.40
0.8 m3/h 99.90 L Q 0.50 ~0.10 0.20 0.40 0.90 0.00 6.70 0.50
IR NENEEX  Es 0.31 0.31 0.31 0.31 0.31 0.31 0.31 0.31
T 7.30 i 7.30 7.30 7.30 7.30 7.30 7.30 730
i & =
Ae =FOEHE=R2EA T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
N 2470 pi| 2440 2410 2380 2350 2320 2260 2570
| ok
~SNEHISHA=IX P ~0.03 20,06 ~0.09 —0.12 014 017 ~6.20 —0.02
I %)  +1.50% 0.78 0.15 0.42 0.59 1.07 0.14 0.81 0.59
JIA JAE2NEER Es
At | 2ZH0B2=REAR T
SO ESBHEEE P
I xH®)  £1.50%
B = e B2 e B B B e e
E I OANE Os2 [ ga Oeta 028 Osa Og& o8 Ose
I FHE) R=V+ES+T+P peav=— @ 00 ecEmnT-tg-t gepEzp=-— 1 —Pd___ 409
Q Pi + CH21 &
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2018/06/19 o B X NEHESZL A
7 G2.5 (4.0 m3/h) ABIIE0IE 8130
Qmax 0.2Qmax Qmin Qmax 0.2Qmax Qmin
=TI 25 HER (g 2IEI| 2™ PglPa) th212HPa) 101340
7.30 7.30 2350 2500
JsHs 134311926333 | 134811900132 | 134311916566 | 134311916259 | 124311907933 134311900590 134311000756 | 134311900600
101.20 T 101.70 101.60 102.10 102.60 102.40 102.70 103.00
4.0 m3/h 102.20 L Q 1700 ~0.50 ~0.60 ~0.10 0.40 0.20 0.50 0.80
JR| N=INEJA Es 0.28 0.28 0.28 0.28 0.28 0.28 0.28 0.28
- 7.30 Wl 7.80 7.30 730 7.30 7.30 7.30 7.30
(] A TH X
g +A0EE=REI T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
— 2200 P 2050 1900 1750 1600 1450 1300 1150
A = y
+RANEEH=IN P ~0.14 ~0.29 —0.44 ~0.58 ~0.73 ~0.88 .02 17
bl AH%)  +1.50% -0.84 -0.50 -0.74 -0.40 -0.06 -0.40 -0.25 -0.11
100.10 110060 100.00 100.10 99.90 160.70 100.40 100.70
0.8 m3/h 100.00 t Q 0.10 0.60 0.00 0.10 ~6.10 0.70 0.40 0.70
R NENEFI Es 0.31 0.31 0.31 0.31 0.31 0.31 0.31 0.31
T 7.30 W 7.30 7.30 7.30 7.30 7.30 7.30 7.30
b =
A sANEHS=REIX T 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
. 2470 Pi | 2440 2410 2380 2350 2320 2590 2270
P e X
+HOEHAHRAEIN P ~0.03 ~0.06 ~0.00 0.2 014 —0417 ~0.20 —0.22
y]| (%) +£1.50% 0.38 0.85 0.22 0.29 0.07 0.84 0.51 0.79
AR| NE=ENEEF I Es
Hét | SFOEH2=XUEET] T
220/ EHBATSHI P
I XH%)  +£1.50%
B o= R Sy O o e e e R
T J AF B &= O ZE=A [ et O =28t O &A 0O =ssA [ g= ] Za=x
IIKHE) %=VAES+T+P weEv-— " 00 ecwmmT=tet gapEzp=— P4 440
Q Pi+ CHIIE
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2018/06/19 N ABSIERYA
R o= G2.5 (4.0 m3/h) =S ESI = 8130
Qmax 0.2Qmax Qmnin Qmax 0.2Qmax Qmin
JIFEJ 25 B tq JIEI| 48 PglPa) o212 {Pa) 101340
7.30 7.30 2350 2500
JeHs 134311900157 | 134311904768 | 134311900597 | 134311900760 | 134311901021 124311007931 134311918835 | 124311907936
101.60 T 701.30 102.00 102.40 102.00 T02.70 102.90 102.50
4.0 m3/n 102.20 L Q ~0.60 6,90 0.20 0.20 ~0.20 0.50 0.70 0.30
NR| NEINEEA Es 0.28 0.28 0.28 0.28 0.28 0.28 0.28 0.28
— 7.80 | 7.0 7.30 7.80 730 730 7.30 7.30
bl oA X
e +ZOHEER2IX T 0.00 0.00 0.00 0.00 5.00 0.60 0.00 0.00
- 2200 PI| 2050 1900 1750 1600 1450 1300 1150
A M [=10—] ]
TENEHHIZEL P .14 ~0.29 ~0.44 —0.58 ~0.73 ~0.88 102 a7
pli M%)  *1.50% ~0.45 -0.89 -0.35 -0.11 —0.64 -0.11 -0.06 -0.60
100.60 T 700.40 100.30 100.60 150,00 100,60 100.40 100.20
0.8 m3/h 100.00 L Q 0.60 0.40 0.30 0.60 0.00 0.60 0.40 0.40
JR| NENEEX  Es 0.31 0.31 0.31 0.31 0.31 0.31 0.31 0.31
. 7.30 D 7.30 7.30 730 7.30 7.30 7.30
Pl oA
Ag| +HNHEZAZIX T 0.00 0.00 0.00 0.00 0.00 .60 0.00 0.00
- 2470 pi | 2440 2410 2380 5350 5300 5550 5970
A = .z )
+HEHSRAEIA P ~0.03 ~0.06 ~0.09 ~0.12 2014 ~0.47 ~0.20 022
b ZH%) +1.50% 0.88 0.65 0.52 0.79 0.17 0.74 0.51 0.49
N x AZEINBAEA Es
Hiek| $20EHR2XRE=XNEEHX T
£2H0EEIISEHT P
2t FH%)  £1.50%
m Fs| == gr= =] B A f=ig=] & =)
E Il OA Oax  OgsA e Osa O Oz Og2 0Ogs
IIRHE) %=V+ES+T+P awsv-— U 00 ecwmmT-te-t gremEgp=— 1 Pd_ 400
Q : Pl + OOl




Qmin & & J| § X

2 AR S(m3/h) 0.025 ] 7 | G2.5R
MY 2018/06/19 o E T NEHIERLA BHIE 3.00 % | -3.00 % | o 2 g (PA) ] 101340 Pa.
e = 73 °C & = 55 % ASINETE 519648
Bench No. 1 2 3 4 5 6 7 8 9 10
news 038308 | oichos |  o168s7 516511 §&817 So5740 316161 S66500 516362 030981
SE0IE S 10.10 10.10 10.10 10.10 10.10 10.00 10.10 10.00 10.00 10.00
NE0ESHEQ 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
B v= B x100 1.00 1.00 1.00  1.00 1.00 0.00 1.00 0.00 0.00 0.00
I | Ji=0IEHE R Es 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
& | a=nees )Ty 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3
A I adoeeg(OTi 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3
& | e=raxe) = T&T 00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
NE=0/E/ 2 (Pa) Pq 2500 2500 2500 2500 2500 2500 2500 2500 2500 2500
£ 0|E2 (Pa) Pi 2500 2455 2411 2366 2322 2277 2233 2188 2144 2100
e B RI(%) P=LHRd x 100 0.00 -0.04 -0.09 -0.13 0.7 -0.21 -0.26 -0.30 -0.34 -0.39
31 XH%) E=V+Es+P+T 1.02 0.98 0.93 0.89 0.85 -0.19 0.76 -0.28 -0.32 -0.37
B 0 0 0 o 0 o} 0 o o o}
Bench No. 11 12 13 14 15 16 17 18 19 20
LT TR Im | UOE | 0% | UnE | ow | han | nen | ogn | Gan
2ANEBIHEF 10.10 10.00 10.00 10.00 10.00 10.10 10.10 10.10 10.10 10.10
NZ=NHSHSTQ 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
g5 v= EQ x100 1.00 0.00 0.00 0.00 0.00 1.00 1.00 1.00 1.00 1.00
7l | A= EEA Es 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
4 | o=nee=(d)Tq 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3
A | 22A0B2(ATI 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3
& | ezwax) = T4 x100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
JIZEDIE 22 (Pa) Pq 2500 2500 2500 2500 2500 2500 2500 2500 2500 2500
2 20]E 22 (Pa) Pi 2065 2030 1995 1980 1926 1890 1855 1820 1785 1750
ore 2 x(%) P=_EiFax 100 -0.42 -0.45 -0.49 -0.52 -0.56 -0.59 -0.63 -0.66 -0.69 -0.73
2| RH{%) E=V+Es+P+T 0.60 -0.43 0.47 -0.50 -0.54 0.43 0.39 0.36 0.33 0.29
I < 0 o o o o o o o 0 o




Qmin & & J| § X
2 A2 (m3th) 0.025 B | 7 = | G2.5R
A AY 2018/06/19 R NEHIERHA BEIIE 3.00 % 3.00% | oolepa) | 101340 Pa.
e & 7.3 °C & E 5 % NEIIZ0E 519648
Bench No. 1 2 3 4 5 [ 7 8 9 10
aee RN | ma | pen | gen | Gap | DR | Gm | Don | mRg | G
+ANEEHS] 10.10 10.10 10.10 10.00 10.00 10.00 10.00 10.10 10.10 10.00
JIENEHERZQ 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
25(%)v= S x100 1.00 1.00 1.00 0.00 0.00 0.00 0.00 1.00 1.00 0.00
1| J=0ERH Es 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
T | o=neeE( A Tq 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3
A | sa082s(& T 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3
& | ezzaxm = T&T x100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
JIZ=0IEI22 (Pa) Pq 2500 2500 2500 2500 2500 2500 2500 2500 2500 2500
432 0|E12H2 (Pa) Pi 2500 2455 2411 2366 2322 2277 2233 2188 2144 2100
ate1 w5 Xi(%) P=-Li-Ed x 100 0.00 -0.04 -0.09 013 -0.17 -0.21 -0.26 -0.30 -0.34 -0.39
I T(%) E=V+Es+P+T 1.02 0.98 0.93 -0.11 -0.15 ~0.19 «0.24 0.72 0.68 ~0.37
z = o 0 o} 0 0 o o 0 0 0
Bench No. 11 12 13 14 15 16 17 18 19 20
News 301088 I e AR
AHOEEDLF | 10.00 10.10 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
JIFDESAZQ 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
=% v= HQ x100 0.00 1.00 -100.00 -100.00 -100.00 ~100.00 -100.00 -100.00 -100.00 -100.00
I | AE0EERR Es 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
| z=0EeE&)Tq 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3
A | 20T 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3 7.3
& | ecwmxw)T= IGI x100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
J1=0/El 22 (Pa) Pq 2500 2500 2500 2500 2500 2500 2500 2500 2500 2500
A A0 (Pa) Pi 2065 2030 1995 1960 1925 1890 1855 1820 1785 1750
er2t =T X|(%) P=FHERS x 100 -0.42 -0.45 -0.49 -0.52 -0.56 -0.59 -0.63 -0.66 -0.69 -0.73
2 X {%) E=V+Es+P+T -0.40 0.57
B = 0 o




